
How to calculate the efficiency coefficient
of wind power generation

The figure below shows the variation of efficiency (often referred to as the power coefficient, cp) with the

ratio of downstream to upstream velocity. By differentiating equation (7), it is easy to show that the maximum

turbine ...

Where: P is the power in watts, r (rho) is the air density in Kg/m 3, A is the circular area (pr 2 or pd 2 /4) in m

2 swept by the rotor blades, V is the oncoming wind velocity in m/s, and C P is the power coefficient

(efficiency) which is the ...

Wind speeds are slower close to the Earth''s surface and faster at higher altitudes. Average hub height is 98m

for U.S. onshore wind turbines 7, and 116.6m for global offshore turbines 8.; Global onshore and offshore

wind generation ...

The unit of measurement of wind turbine energy is joule [J]. Go back. Example. Calculate the energy output of

a wind turbine during 3 h of continuous operation, with a blade length of 10 m and efficiency of 40 %, when

the wind speed is 15 ...

The power in the wind is given by the following equation: Power (W) = 1/2 x r x A x v 3. Power = Watts. r

(rho, a Greek letter) = density of the air in kg/m 3. A = cross-sectional area of the wind in m 2. v = velocity of

the wind in m/s.
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